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“SCIENCE”

01. Metals are

(A)shiny (B) hard

(C)sonorous (D)all of these

02. Which of the following is a non-metal?

(A) Aluminium (B) Oxygen

(C)Iron (D)Silver

03. Which of the following metal is stored in
kerosene?

(A)Sodium (B) Magnesium

(C)Phosphorus (D)Zinc

04. Which gas is the major pollutant of air?

(A)Carbon monoxide (B) Nitrogen

(C)Oxygen (D)Propane

05. The solid or liquid particles dispersed in the
air are called

(A)oxides (B) acids

(C)hydrocarbons (D)aerosols

06. We are able to see an object due to the
presence of

(A)light (B) dark

(C)refraction (D)sound

07. The bouncing back of light into the same
medium is called

(A)refraction (B) reflection

(C)dispersion (D)diffraction

08. The perpendicular drawn to the reflecting
surface is called

(A)normal (B) incident ray

(C)reflected ray (D)none of these

“SCIENCE”

01. /kkrq gksrs gS :

(A)pednkj (B) dBksj

(C) /ofud (D)mijksDr lHkh

02. fuEufyf[kr esa ls dkSulk v/kkrq gS?

(A) ,Y;qfefu;e (B) vkWDlhtu

(C)ykSgk (D)pkanh

03. fuEu esa ls fdl /kkrq dks dSjksflu esa laxzfgr fd;k tkrk
gS?

(A)lksfM;e (B) eSXuhf'k;e

(C)QkWLQksjl (D)ftad

04. fuEufyf[kr esa ls dkSulh xSl ok;q dk iznqf"kr djrh gS?

(A)dkcZu eksuksvkWDlkbM (B) ukbVªkstu

(C)vkWDlhtu (D)izksisu

05. tc Bksl rFkk nzo ds d.k gok esa QSyrs gS] rks mls dgk
tkrk gS :

(A)vkWDlkbM (B) vEy

(C)gkbMªksdkcZu (D),sjkslkWy

06. ge fdlh oLrq dks fdldh mifLFkfr esa ns[k ldrs gS]
og gS :

(A)izdk'k (B) va/ksjk

(C)viorZu (D)/ofu

07. izdk'k dk ,d gh ek/;e esa okil mNyuk (bouncing
back) dgykrk gS :

(A)viorZu (B) ijkorZu

(C)QSyko (D)foorZu

08. ijkorZd lrg ij [khaps x, yacor dks dgk tkrk gS :

(A)vfHkyac (B) vkifrr fdj.k

(C)ijkofrZr fdj.k (D)buesa ls dksbZ ugha
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09. Which of the following is a bad conductor of
electricity?

(A)Distilled water (B) Silver nitrate

(C)Sulphuric acid (D)Copper sulphate

10. An electric current can produce

(A)heating effect (B) chemical effect

(C)magnetic effect (D)all of these

11. Copper is

(A)a good conductor

(B) an insulator

(C)both (A) and (B)

(D)none of these

12. Lightning occurs due to

(A)wind (B) rain

(C)electric discharge (D)earthquake

13. Major earthquakes are less likely to occur in

(A)North-East India (B) Rajasthan

(C)Rann of Kutch (D)Odisha

14. Sound is a kind of

(A)work (B) energy

(C) force (D)pressure

15. Pitch of sound is determined by its

(A)frequency (B) speed

(C)amplitude (D)loudness

16. Which of the following dissolves more
rapidly in blood haemoglobin that oxygen ?

(A)Ozone

(B) Nitrous oxide

(C)Sulphur dioxide

(D)Carbon monoxide

09. fuEufyf[kr esa ls fo|qr dk lcls vPNk dqpkyd gS?

(A)vklqr ty (B) flYoj ukbVªsV

(C)lY¶;qfjd vEy (D)dkWij lYQsV

10. fo|qr /kkjk mRiUu dj ldrh gS :

(A)Å"eh; izHkko (B) jklk;fud izHkko

(C)pqEcdh; izHkko (D)mijksDr lHkh

11. dkWij gS :

(A),d vPNk pkyd

(B) ,d vpkyd

(C) (A) rFkk (B) nksuksa

(D)buesa ls dksbZ ugha

12. fctyh fdl dkj.k ls mRiUu gksrh gS :

(A)gok (B) o"kkZ

(C) fo|qr foltZu (D)HkwdEi

13. cM+s HkwdEi dh laHkkouk lcls de fuEufyf[kr esa ls
fdl {ks= esa gksxh :

(A)mÙkj&iwohZ Hkkjr (B) jktLFkku

(C)dPN dk j.k (D)mM+hlk

14. /ofu ,d izdkj dh gksrh gS :

(A)dk;Z (B) ÅtkZ

(C)cy (D)nkc

15. /ofu dh rkjdRo (Pitch) dks ekik tkrk gS :

(A)vko`fÙk (B) pky

(C)vk;ke (D)izcyrk

16. fuEu esa ls dkSu jDr gheksXyksfcu esa vkWDlhtu dh
rqyuk esa vf/kd rsth ls ?kqyrk gS?

(A)vkstksu (B) ukbVªl vkWDlkbM

(C)lYQj MkbZvkWDlkbM (D)dkcZu eksuksDlkbM
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17. What is the coloured part of the eye called?

(A)Pupil (B) Cornea

(C)Iris (D)Rods

18. An object is Vibrating at 50 Hz. What is its
time peroid :

(A)0.02 s (B) 2 s

(C)0.2 s (D)20 s

19. Which metal reacts readily with cold water?

(A)Gold (B) Silver

(C)Magnesium (D)Calcium

20. What is current?

(A)The flow of matter

(B) The flow of electrons

(C)The flow of charge

(D)The flow of protons

“MATHEMATICS”

21. The multiplicative inverse of 
a

b


 is ...............

:

(A)
a
b

(B)
b
a

(C)
b

a


(D)none of these

22. Solve for 
3x 2

x : 2
16




(A)11 (B) 10

(C)15 (D)8

17. vka[k ds jaxhu Hkkx dks D;k dgrs gS?

(A)iqryh (B) dkWfuZ;k

(C)vk;fjl (D)jaxk dksf'kdk

18. ,d oLrq 50 Hz dh vko`fÙk ls dEiUu djrh gS] rks
mldk vkorZdky gksxk :

(A)0.02 s (B) 2 s

(C)0.2 s (D)20 s

19. dkSulh /kkrq BaMs ty ls 'kh?kzrk ls vfHkfØ;k  djrh gS?

(A)lksuk (B) pkanh

(C)eSXuhf'k;e (D)dSfY'k;e

20. fo|qr /kkjk gksrh gS?

(A)iznkFkZ dk izokg

(B) bysDVkWuksa dk izokg

(C)vkos'kksa dk izokg

(D)izksVksuksa dk izokg

“MATHEMATICS”

21.
a

b


 dk xq.ku izfrykse ............... gS :

(A)
a
b

(B)
b
a

(C)
b

a


(D)buesa ls dksbZ ugha

22. x ds fy, gy dhft, 
3x 2

2
16


  :

(A)11 (B) 10

(C)15 (D)8
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23. The square of 23 is :

(A)529 (B) 526
(C)46 (D)429

24. The smallest natural number by which 135
must be divided to obtain a perfect cube is :

(A)5 (B) 3

(C)15 (D)9

25. 52 144  = ................ :

(A)12 (B) 8

(C)9 (D)11

26. The cube of an odd natural number is always
:

(A)even (B) odd

(C)even or odd (D)can't say

27. Simplification of (t + s2) (t2 - s) is :

(A)t3 + s3- s2t2 - ts (B) t3 - s3 + s2t2 - st

(C) t3 - s3 + s2t2 + st (D)t3 + s3 - s2t2 + st

28. Multiply :
3y

4x
5

     and 
4y

3x
5

   

(A)
2

2 7xy 12y
12x

5 25
 

(B)
2

2 7xy 12y
12x

5 25
 

(C)
2

2 7xy 12y
12x

5 25
 

(D)None of these

23. 23 dk oxZ gksxk :

(A)529 (B) 526
(C)46 (D)429

24. 135 dks dkSulh lcls NksVh iw.kZ oxZ la[;k ls foHkkftr
fd;k tk;s rkfd ,d iw.kZ ?ku la[;k izkIr gks :

(A)5 (B) 3
(C)15 (D)9

25. 52 144  = ................ :

(A)12 (B) 8

(C)9 (D)11

26. ,d fo"ke izk—r la[;k dk ?ku lnSo gksrk gS :

(A)le (B) fo"ke

(C)le ;k fo"ke (D)ugha dgk tk ldrk

27. (t + s2) (t2 - s) dk ljyhdj.k gS :

(A)t3 + s3- s2t2 - ts (B) t3 - s3 + s2t2 - st
(C) t3 - s3 + s2t2 + st (D)t3 + s3 - s2t2 + st

28. xq.kk dhft, :
3y

4x
5

     & 
4y

3x
5

   

(A)
2

2 7xy 12y
12x

5 25
 

(B)
2

2 7xy 12y
12x

5 25
 

(C)
2

2 7xy 12y
12x

5 25
 

(D)buesa ls dksbZ ugha
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29. Product of two negative integers is always :

(A)Always negative

(B) Always positive

(C)Either positive or negative

(D)0

30. Sum of all interior angles of a parallelogram
is :

(A)180º (B) 360º
(C)540º (D)240º

31. Which of the following values are equal :

i. 1 4 ii. 4 0

iii. 0 4 iv. 41

(A)i & ii (B) ii & iii

(C) i & iii (D)i & iv

32. The perfect square number between 30 and
40 is :

(A)35 (B) 39
(C)36 (D)32

33. The common factors of the terms 2y, 22xy is
:

(A)2 (B) 2y
(C)y (D)xy

34. The values of A and B in the given addition
respectively are :

2

A
6

3

3
B

A

B
1

+

(A)4, 7 (B) 7, 4

(C)5, 6 (D)6, 5

29. nks _.kkRed iw.kkZadks dk xq.kuQy gksrk gS :

(A)lnSo _.kkRed

(B) lnSo /kukRed

(C);k rks _.kkRed ;k /kukRed
(D)0

30. ,d lekUrj prqHkqZt ds vkUrfjd dks.kks dk ;ksx gksrk gS
:

(A)180º (B) 360º
(C)540º (D)240º

31. fuEu esa ls dkSuls eku cjkcj gS :

i. 1 4 ii. 4 0

iii. 04 iv. 41

(A)i & ii (B) ii & iii

(C) i & iii (D)i & iv

32. 30 rFkk 40 ds e/; iw.kZ oxZ la[;k gS :

(A)35 (B) 39
(C)36 (D)32

33. inks 2y, 22xy dk mHkfu"B xq.kt gS :

(A)2 (B) 2y
(C)y (D)xy

34. uhps fn, x, ;ksx esa A & B dk eku Øe'k% gksxk :

2

A
6

3

3
B

A

B
1

+

(A)4, 7 (B) 7, 4

(C) 5, 6 (D) 6, 5
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35. The factore of x2 – 4 are ................ :

(A)(x2 + 2) (x2 – 2) (B) (x + 4) (x – 4)

(C) (x + 2) (x – 2) (D)none of these

36. (32 x4y3 – 16 x3y4)   (–8x2y) =

(A)4x3y2 + 2xy3 (B) 4x3y – 2xy3

(C)–4x2y2 + 2xy3 (D)–4xy2 + 2xy3

37. Pluto is 5913000000 km away from the sun.
Express this distance in standard form :

(A)5.913 × 10—11 km (B) 5.913 × 10—9 km

(C)5.913 × 106 km (D)5.913 × 109 km

38. Square of (9x – 7xy) is :

(A)81x2 + 49x2y2

(B) 81x2 – 49x2y2

(C)81x2 + 49x2y2 – 126 x2y

(D)81x2 + 49x2y2 – 63x2y

39. In the given figure, the value of x is :

x

A

D

C

B

70º

60º

(A)120º (B) 140º

(C)160º (D)130º

40. Sam invested Rs 15000 at 10% per annum
for one year. If the interest is compounded
half yearly then the amount received by sam
at the end of the year will be :

(A)Rs 16500 (B) Rs 16525.50

(C)Rs 16537.50 (D)Rs 18150

35. x2 – 4 ds xq.ku[k.M gS ................ :

(A)(x2 + 2) (x2 – 2) (B) (x + 4) (x – 4)

(C) (x + 2) (x – 2) (D)buesa ls dksbZ ugha

36. (32 x4y3 – 16 x3y4)   (–8x2y) =

(A)4x3y2 + 2xy3 (B) 4x3y – 2xy3

(C)–4x2y2 + 2xy3 (D)–4xy2 + 2xy3

37. IywVks xzg lw;Z ls 5913000000 km nwj gS] bldk
ekud :i gksxk :

(A)5.913 × 10—11 km (B) 5.913 × 10—9 km

(C)5.913 × 106 km (D)5.913 × 109 km

38. (9x – 7xy) dk oxZ gksxk :

(A)81x2 + 49x2y2

(B) 81x2 – 49x2y2

(C)81x2 + 49x2y2 – 126 x2y

(D)81x2 + 49x2y2 – 63x2y

39. fn, x, fp= esa x dk eku gksxk :

x

A

D

C

B

70º

60º

(A)120º (B) 140º

(C)160º (D)130º

40. lSe us ,d o"kZ ds fy, 10% okf"kZd nj ij 15000
:i,s fuos'k fd,A ;fn C;kt dh x.kuk v)Zokf"kZd gks]
rks ,d lky ds ckn lSe dks fdruk feJ/ku feysxk :

(A)Rs 16500 (B) Rs 16525.50

(C)Rs 16537.50 (D)Rs 18150
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“MENTAL ABILITY”

41. Find the missing number in the following
series :

2, 5, 8, ?, 14

(A)9 (B) 10

(C)11 (D)13

42. Find the missing number in the following
series :

5, 20, 80, ?

(A)100 (B) 320

(C)160 (D)240

43. Circle is related to circumference as square is
related to :

(A)Area (B) Angle

(C)Diagonal (D)Perimeter

44. Gold _____ Goldsmith ; Wood __ Carpenter
; leather ____ ? :

(A)Painter (B) Cleaner

(C)Cobbler (D)Butcher

45. TiP : PiT, gum : mug ; Pool ? :

(A)lpoo (B) loop

(C) lopo (D)polo

46. If PRICE is coded as SVNIL, COST will be
coded as :

(A)FSXY (B) FSWY

(C)FTWZ (D)FSXZ

47. A man travels 12 km west, then 3 km towards
south and then 8 km towards east. How far
he is from the start :

(A)23 km (B) 20 km

(C)15 km (D)5 km

“MENTAL ABILITY”

41. "?" ds LFkku ij dkSulh la[;k vk;sxh :
2, 5, 8, ?, 14
(A)9 (B) 10
(C)11 (D)13

42. "?" ds LFkku ij dkSulh la[;k vk;sxh :
5, 20, 80, ?
(A)100 (B) 320
(C)160 (D)240

43. or̀ dk lEcU?k ifjf/k ls gS] oSlk gh oxZ dk lEcU?k gksxk
:

(A){ks=Qy (B) dks.k

(C) fod.kZ (D)ifjeki

44. lksuk_____ lqukj; ydM+h__ c<+bZ; peM+k ____ ? :

(A)isUVj (B) lQkbZokyk

(C)eksph (D)dlkbZ

45. TiP : PiT, gum : mug ; Pool ? :
(A)lpoo (B) loop
(C) lopo (D)polo

46. ;fn fdlh lkadsfrd Hkk"kk esa  PRICE dks SVNIL
fy[kk tkrk gS] rks mlh lkadsfrd Hkk"kk esa COST dks
fdl izdkj fy[kk tk;sxk :
(A)FSXY (B) FSWY
(C)FTWZ (D)FSXZ

47. ,d O;fDr 12 fdyksehVj if'pe dh vkSj ;k=k djrk
gS] mlds i'pkr~ og 3 fdyksehVj nf{k.k dh vksj tkrk
gS rFkk mlds i'pkr~ og 8 fdyksehVj iwoZ dh vkSj
pyrk gS] rks og viuh izkfjEHkd LFkku ls fdruk nwj
gksxk :

(A)23 fdyksehVj (B) 20 fdyksehVj

(C)15 fdyksehVj (D)5 fdyksehVj
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48. Problem figures :

?
× ×

× ×

×

×

×

×

×

×
×

×

×
×

Answer figures :

(A)

× ××

× ××
× (B)

× ×

× ×
× ×

(C)

× ×

× ×
× (D)

×

×
×× ×

49. Food : Stomach : Fuel : ?

(A)Automobile (B) Rail

(C)Engine (D)Plane

50. ___ a b b ___ b __ b a b b :

(A)a b a (B) b b a

(C)a a b (D)b a b

48. iz'u vkd̀fr;kW :

?
× ×

× ×

×

×

×

×

×

×
×

×

×
×

fodYi vkd`fr;kW

(A)

× ××

× ××
× (B)

× ×

× ×
× ×

(C)

× ×

× ×
× (D)

×

×
×× ×

49. Hkkstu : isV : ba/ku : ?

(A)vkWVkseksckbZy (B) jsy

(C)batu (D)gokbZtgkt

50. ___ a b b ___ b __ b a b b :
(A)a b a (B) b b a
(C)a a b (D)b a b




